1995 11 7.11
50mm
4
7.11
7.11
711.12km?




20 | TI=0

(mm)
10

o
)

— = fr - L1l L1
dt 40 .

1 2 3 4 10 ( 20 30
r: (mm/h)

f: 30 F ﬂ

20
3.1 S (mm TI=1 -7

10 Si=K(g-qo)iP

1 2 3 4 10 ( 20 30
(mm/h)

runge-kutta
dQi  (re-Q)Q™"
it K-p )

re:f Q 0 I

TI




5
4.1
4.2
TL
1981 0.68 2.0 0.3] 24.09
1982 0.97 3.0 0.33 494
1983 0.68 2.0 0.34] 29.32
1990 0.6 2.0 0.31 27.11
993 0.51 3.0 0.39 ] 15.49
0.69 2.4 0.33] 29.08
m/ / - ni/ (
1981 16614 1656.68 526| 032
1982 217516 225905 8389 386
1983 98585 984.15 170| 017
1990 124091 123741 350 028
1993 67161 665.68 593| 08
1347.09 136059 2006( 110
sekikawa 1981
3000
2500 |
[ precipitation |
2000 discharge(cal) |
os0 A T discharge(obs) |
§ 1
‘31000 f 1
500 | |
0 LU Ll AL LT
TCdE8EIRS BT EL B o AR
time(hour)
1981

110

15
20
25
30
35
40
45
50

/

precipitation

sekikawa 1982

5000

4500

4000 -
~ 3500 | EE precipitation 115

3000 discharge(cal) 12 _
%2500 - ... discharge(obs) 1% 2
‘;: 2000 1 30 2
21500 138

1000 140 =

500 e S| %

O LU ) e IR NN RN NN A RN AN AR NENEE] 50
CeHSNSE8ISIBTERE
time(hour)

6.2 1982
7.11
7.11
1981 1983
1990
2,342m [/
2R
f=1-exp — 2 R:
n
0.84 n:
SEKIKAWA 1995(H7) 7.11
5000 T
4500 | [ precipitation |
4000 1
5 3500 | discharge(cal) i
“E 3000 | .
qé’ 2500 v+ V. T discharge( 4
<
‘S 2000 1
L2
© 1500 | e discharge(obs) |
1000 1
500 1
0
0 20 fimn%'(\)mlr\ 60 80
7.11
TI P K m3/
0.8412.41]10.32| 26.84 2,342

7.11

precipitation(mm/h)



7.11
7.11
100
2,477m3/
2,342 m?3/
7.11
100
7.11
2,854 m3/
100 2,854
, m3/
max=2342m*/s)
100
2,854 m3/
i
//
/60° 2000
= 50 5/g
1985
s/
5/ 2000.3
0 /g
| 2002
0.01% 7 11
( N 71
1997



